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Poisson’s ratio i1s defined as the
ratio of

(a) Longitudinal strain to
Lateral strain

(b) Lateral strain to
Longitudinal strain

(c) Axial stress to Shear stress

(d) Axial stress to Bending
stress

Shear stress acts

(a) normal to the surface
(b) inclined to the surface
(c) tangential to the surface

(d) along the longitudinal axis

The relationship between E and
Gis

(@) E=2G(1-7v)

(b) E=2G (1 +7y)

(c) E=2G(1-2y)

d E=2G (1 +2y

The relationship of E, G and K is

3KG
@ E=35r1G
@ G= 3%E+KK

B-A)

Modulus of rigidity is defined as

the ratio of
(a) Shear stress to Shear strain

(b) Shear strain to Volumetric

strain
(c) Normal stress to Shear strain

(d) Normal stress to Linear strain

Principal planes are planes of
(a) Maximum shear stress
(b) Maximum normal stress
(c) Minimum shear stress

(d) Zero shear stress

Principal stresses are given as

2 2
@) Gx;gyi\/(wﬁcy; — 4txy

b) Gx;gyi\/(ﬁx—cy)22+4’cxy2
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The centroid of an equilateral
triangle of side [ lies at the
following distance (perpendicular)
from any side :

~
oo
~
~ ~ W ||~
W

(b)

(©)

%

(d)

=
~

Shear stress variation for an
I-section 1s

(a) N—-}--A
(b) N—--E-—A
"

The bending stress is proportional
to

(a) moment of Inertia

(b) distance from neutral axis
(c) modulus of elasticity

(d) section modulus

11.

12.

13.

(5-A)

The slope and deflection at mid

span of a simple beam carrying

concentrated load (at mid span) is

(a) zero, zero

(b) zero, maximum

(c) maximum, zero

(d) minimum, maximum

Torsional rigidity is defined as

the

(a) product of torque and length

(b) product of polar moment of
inertia and modulus of
rigidity

(c) sum of polar moment of
inertia and modulus of
rigidity

(d) product of polar moment of
inertia and angle of twist

During the manufacture of

cement, gypsum is added to

(a) increase the strength of

concrete
(b) modify colour of cement
(c) adjust settling time of cement

(d) reduce heat of hydration
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(a) 16.2 kN-m & 18 kN

(b) 16.2kN-m & 17 kN
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(d) 18 kN-m & 16.2 kN
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Gap graded aggregate is

(a) one or more intermediate
fraction of aggregates are

absent
(b) aggregates fall within a
narrow limit of size fraction

(c) different fractions of fine

and coarse aggregates

(d) aggregates are of uniform

size

Bleeding of concrete is

(a) finer particles settle down at

the bottom

(b) coarser particles gets
separated

(c) cement paste raises to
surface of concrete

(d) finer particles collect in

isolated pockets

The designed reinforcement in a

simply supported singly
reinforced RCC beam is placed on
(a) Tension side

(b) Compression side

(c) Lateral face

(d) both on

compression side

tension and

17.

18.

19.

20.

(7T-A)

One way slab of effective span
3.6 m and 150 mm thick.
subjected to factored live load
and dead load of about 10 kN/mZ.
The designed bending moment
and shear force are

(a) 16.2kN-m & 18 kN
(b) 16.2kN-m & 17 kN
(¢) 15.2kN-m & 18 kN-m
(d) 18 kN-m & 16.2 kN

The fixed support in real beam is
assumed as in the
conjugate beam.

(a) Fixed support
(b) Roller support
(c) Hinged support
(d) Freeend

Minimum reinforcement (HYSD
bars) in a slab is of total
cross-sectional area.

(a) 0.15%
(b) 0.21%
©) 0.51%
d) 0.12%

Minimum number of bars in
square, rectangular and circular
columns are

(a) 4,4,8
(b) 4,6,8
(c) 4,6,6
d) 4,8,6
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(a) 605.987 kN

(b) 695.98 kN

(c) 650.8 kN

(d) 600.5 kN
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IS : 456 — 2000 code clarifies a
rectangular compression member
as short when the slenderness
ratio of /, /b, and ley/by are

(a) <l12,<12
(b) <12,>12
(c) >12,<12
(d) >12,>12

In a pin-jointed frame the force in
the member BD is

4t
B
60° | 600
AL
(a) 4t
(b) Ot
(c) 4/3t
(d 2t

Bending moment at 1/4™ of the
span from left support on a three
hinged parabolic arch subjected
to udl of w/unit length throughout
its span is

(a) wl/4

(b) w2

(c) O

(d) wi2

24. The section modulus of circular

25.

26.
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section about x-x axis through its
CGis
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According to IS:800-2007 the
minimum & maximum pitch of
bolt holes in the tension member
are,

where d—dia of the hole and
t—-minimum thickness of the
member

(a) 25d&25t
(b) 25t& 16t
) 25d& 16t
d) 16d&2.5t

A 18 mm thick plate is joined to a
16 mm plate by 200 mm long butt
weld. Determine the strength of
joint if a double V-butt weld is
used, if Fe 410 grade steel is used :

(a) 605.987 kN
(b) 695.98 kN
(c) 650.8 kN
(d) 600.5kN
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The slenderness ratio of column
of length 3 m, both ends pinned,

having minimum radius of

gyration 51.8 mm is
(a) 60.92
(b) 56.92
(c) 58.92

(d) 57.92

Pre-stressed concrete means

(a) Compressive stress induced

in concrete before loading

(b) Compressive stress induced

in steel before loading

(c) Tensile stress induced in

concrete before loading

(d) Tensile stress induced in
concrete and steel
simultaneously

(11

La)

29.

30.

The diameter of the nozzle (d) for
maximum transmission of power
1s given by

(where D = Diameter of pipe,
f = Darcy’s coefficient of friction
for pipe, and / = Length of pipe)

@ de 8]3_;11/2
b) d= 81)_;11/3
© de 8]3_;11/4
@ de 8]3_;11/5

A tank of uniform cross-sectional
area (A) containing liquid upto
height (H;) has an orifice of

cross-sectional area (a) at its
bottom. The time required to
empty the tank completely will

be
2A2{H1
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The property of steam function W' is :

(a) W is constant everywhere on

any stream line.

(b) The flow around any path in
the fluid 1s zero for

continuous flow.

(c) The rate of change of W
with distance in an arbitrary
direction is proportional to
the component of velocity

normal to that direction.

(d) All the above

Bligh’s theory of seepage assumes

(a) equal weightage to the

horizontal and vertical creep

(b) more weightage to

horizontal creep than

vertical creep

(c) less weightage to horizontal

creep than vertical creep

(d) loss of head follows the sine

curve

33.

34.

(13-A)

The field capacity of a soil
1s 25%, its permanent wilting
point is 15% and specific dry
unity weight is 1.5. If the depth
of root zone of a crop is 80 cm,
the storage capacity of the soil

18

(a) 8cm

(b) 10cm
(c) 12cm
(d 1l4cm

A river 1s said to be of

(a) aggrading type if it builds up

its bed to a certain slope

(b) degrading type if it cuts its

bed to a certain slope

(c) meandering type if it flows

1n sinuous curve

(d) All the above
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from the following :

(a) When rainfall rate exceeds
the infiltration capacity, the
water enters the soil at full

capacity rate.

When rainfall rate s

(b)

less than the infiltration

capacity, the infiltration

rate 1S approximately

equal to the rainfall

rate.

The actual infiltration rate at

(c)
any time may be equal to or
the infiltration

less than

capacity.

(d) All the above.

36.

Rainfall in cm
— N W kR N 00O O

37.

(15-A)

The rate of rainfall for successive
10 minute periods of a 60 minute
duration storm, are shown in the
below figure. If the value of @
index i1s 3 cm/hour, the runoff
will be

- :/// 7]
i : 1
5 7 2
; — T

> 4 / 1 Index
PV VY. Y yIy>yai zzk ////’
0 10 20 30 40 50 60

Times in minutes

(a) 2cm (b) 3cm
(c) 4cm (d 5cm
According to  Thiem, the

permeability of an aquifer may be
obtained from the equation

B
2.3 Qlog,, r_1

K= tnz-n?

(a)

i
2.3Qlog, r—l

R (O
)
2.3 Qlog,, r—l
© K=, -5y
(d) All the above
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@) 60.0%0.wm.
(b) 60.5Z0.m.
) 61.5%0.an.
d) 63.5%0.an.
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38. The area enclosed by the adjacent

isohyets of a catchment basin are
shown below :

Isohyets| 40-50| 50-60| 60-70( 70-80| 80-90
in cms

Area in
sq. km.

1500 2500| 3000| 2000 | 1000
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The average depth of annual
precipitation in the catchment
basin will be

(a) 60.0 cm
(b) 60.5cm
(c) 61.5cm
(d) 63.5cm

The given figure shows gradually
varied flow in an open channel
with a beak in bed slope. Types
of water surface  profiles
occurring from left to right are

CDL

>

T7777777777777777777777,

>

CDL

Horizontal

(a) H2,S3
(b) H2,S2
(c) H2,M2
(d) H3,M2

40. Which of

41.

(17— A)

the
assumptions are made in the

following

analysis of jet impinging

normally on a moving plate ?

1. Friction between jet and
plate is neglected

2. Flow is steady

3. Momentum of jet is
unchanged

4. Plate moves at a constant
velocity

Choose the correct answer using
the codes given below :

() 1,2and4
(b) 1,2and3
(¢c) 2,3and4
(d 1,3and4

In a three-layered soil, water flows
The
thickness of the middle layer is

parallel to stratification.
twice that of top and bottom layer.
The coefficient of permeability of
middle layer (2K) is twice that of
top and bottom layer (K). What is
the average coefficient of

permeability for this flow ?
(@ K

(b) 133K
() 15K
d) 0.66 K
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Oil (Sp.g =0.98)

Water (Sp.g=1)

(a) 10 N/m?
(b) —10 N/m?
(c) 20 N/m?
(d) —20 N/m>

43. 20T STT FoLNROD TITOODTY,

1/100 =»xSw  (scale) eozo=mdR
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FRCADAODN0ES®) 03w wﬁoﬁﬁ
HOTD (WRTRT) 03PNTLTA.

(a) 0.028

(b) 0.28

(c) 2.8

(d) 28

4. = 29N Beamzmd

2ecoRenmod A, B w3 C =
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(203) JZY IR T FoY g@d@ﬁ
ROCTS

TJIT ClAleMT

(e peadneadneds® et  IINS
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EL.200 m

. . EL.180 m
Piezometric

head = 160 m

EL.140 m

(@ Q+Q=Q;
(b)) Q=Q+Q;
(© Q=Q;+Q;
(d) Q+Qy+Q3=0

21 (1I8-A)



42. In the set up shown in the below

figure, assuming the specific
weight of water as 10,000 N/m?,
the pressure difference between

the points A and B will be

Oil (Sp.g =0.98)

Water (Sp.g=1)

(d)

43. A model of an open channel is
built to a scale of 1/100. If the

model has a  Manning’s

n = 0.013, to what value of
prototype roughness coefficient

would this correspond ?
(a) 0.028

(b) 0.28

(c) 2.8

(d) 28

44. Three reservoirs A, B and C are
interconnected by pipes as shown
in the below figure. Water

surface  elevations in  the

reservoirs and the Piezometric

Head at the junction J are

indicated in the below figure.

Discharges Q, Q, and Q3 are

related as

EL.200 m

. . EL.180 m
Piezometric

head = 160 m

(@ Q;+Q,=0Q4

(b) Q;=Q,+Qy

() Q=0Q;+Qy

d Q+Q,+Q3=0

21 (19-A)
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A 4

3T 4m

—— 10 m downstream
POTFOY sheet pile —

(@) 6.008 1
(b) 5.008 1
(c) 34081
d) 25081
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47.

48.

(20-A)
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(a) 8/5

(b) 4/3

(c) 5/8

(d) In(L/2)



45.

46.

A-2 hour unit hydrograph can be
approximated as trapezoidal as
shown in the below figure. The

unit  hydrograph  refers to
catchment of area
RN le— 4 Units
UP———
Side slopes equal
on both sides
Unit
Hydrograph
Hour
Ol 28 Units ——
(a) 138.24 km?
(b) 0.0384 km?
(c) 384 m?2
(d) 3840 m?
A weir on a permeable
foundation with downstream

sheet pile is shown in the figure
below. The exit gradient as per
Khosla’s method is

_ / Weir

sm Floor

PN

21

—— 10 m downstream

sheet pile —»

(a) 1in6.0
(b) 1in5.0
(c) 1in3.4
d 1in25

47.

48.

21 -A)

The water surface profile
resulting from flow underneath
the gate in the below figure is :

<7

%

—
Horizdntal i
(a) H3
(b) Ml
(c) H2
(d) S2
Two completely penetrating

wells are located L (in metres)
apart, in homogeneous confined
aquifer. The drawdown measured
at the midpoint between the two
wells (at a distance of 0.5 L from
both the wells) is 2.0 m when
only the first well is being
pumped at the steady rate of
Q; m3/sec. When both the wells
are being pumped at identical
steady rate of Q, m/sec, the

drawdown measured at the same
location is 8.0 m. It may be
assumed that the drawdown at the
wells always remains at 10.0 m
when being pumped and the
radius of influence is larger than
0.5 L Q4/ Q, is equal to

(a) 8/5
(b) 4/3
(c) 5/8
() In(L/2)
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The limiting length of the offset
1s when its perpendicular
direction is set out by an eye.

(a) S5Sm

(b) 10m
(c) 15m
(d) 20m

The power of a telescope to form
distinguishable images of objects
separated by small angular
distance is called as

(a) definition
(b) brightness
(c) sensitivity

(d) resolving power

The principle of tacheometry is
used

(a) for locating contours
(b) on hydrographic survey

(c) for filling in detail in
topographic surveys

(d) All of the above

The amount of super-elevation on
railways is equal to

(a) gr¥/GR
(b) Gr?/gR
(c) GR/gr?
(d) gR/Gr?

53.

54.

SS.

(23-A)

Measurements taken with a
wrong scale can be corrected by
using the relation

Correct scale
Wrong scale X
Measured length

(a) True length =

Correct scale)?
(b) True length= (Wrong s alej

Measured length

Correct scale\’
(c) True length= (Wrong scalej X

Measured length
(d) None of the above

X

The maximum allowable limit
that a measurement may vary
from the true value is called

(a) Permissible error
(b) Expected error
(c) Range of error

(d) Lease error

In case of a truly vertical
photograph, which of the
following points coincide ?

1. Principal point
2. Isocenter

3. Plumb point
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d 1,2and3
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(@) 1,3,2,4,5

(b 1,2,3,4,5

c) 1,4,3,2,5

(d 1,3,2,5,4

9 9 9 9

50 kg BeomOTOE  RD0ET  FI
EateYvepla) aa% ?

(a) 27 dee3otned

(b) 34.7 dedotnish

(c) 44.7 deeiTinsd

(d) 429 edTined

1:4: 8 00 F2030E3T 10 cum.
3035@6?’0@?:5??& ebe,’:% ST
Lesoneaom ?

(a) 0.7 cum.

(b) 3.07 cu.m.

(c) 1.15cum.

(d) 4.74 cu.m.

59.

60.

61.

62.

(24— A)

O30 SEITE e INTNYRY
A, B, C Q0T TINECTTH S30E0ZIT ?

(@) =Y
(b) %Wo@%
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(a) &0 DO WO

(b) %”\méi)%@@ TOL30ET® 0TI
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0ER TURDT R RLDTD
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(b) —a‘i%ea@ 3 FUR
(c) RB.3wR
(d) rc.c. 3oum

2,000 TS WeLIT® Fpetste L0wT
RE00ED DT, BRTITOZE ?

(a) 100kg

(b) 1100 kg

(c) 1220kg

(d) 1440 kg
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The operation of resection
involves the following steps :

I. Rough orientation of the
plane table.

2. The three lines
triangle of error.

from a

3. Drawing lines back through
the three control points.

4. Select a point in the triangle
of error such that each ray is
equally  rotated either
clockwise or anticlockwise.

5. The points obtained by three
rays is the correct location.

The correct sequence is

(@ 1,3,2,4,5
(b) 1,2,3,4,5
(c) 1,4,3,2,5
d 1,3,2,5,4

The volume of cement in a 50 kg
bag is

(a) 27 litres

(b) 34.7 litres
(c) 44.7 litres
(d) 42.9 litres

For preparing 10 cum. of 1 : 4 : 8
cement concrete, the requirement
of sand would be

(a) 0.7 cum.

(b) 3.07 cu.m.
(c) 1.15cum.
(d) 4.74 cu.m.

59.

60.

61.

62.

25-A)

A, B, C classification of cities is
based on

(a) Location
(b) Population
(c) State to which they belong

(d) Facilities available

Which of the
necessarily an accurate estimate ?

following s

(a) Plinth area estimate
(b) Cubical content estimate

(c) Revised estimate

(d) None of the above

In which work the output in cu.m.
per Mason per day can be
expected to be maximum

(a) Random rubble masonry in
lime

(b) Stone arch work

(c) R.B. work

(d) R.C.C.work

One cubic metre of Portland
cement weights

(a) 100 kg

(b) 1100 kg

(c) 1220kg

(d) 1440 kg



63.

64.

65.

21

20T JOoSeeRIN dezoma
m’owmée) eﬁﬁséémf 6%3&2336
D@D @@oﬁaoﬁa@ &eﬁ@@&

(2) ©RIEABRADIZH
(b) RHZoPREIHHI
(C) ROBRAL WEHRABRP

(d) DO Qes3e

20000 ADIEEIT 338 TINR Giigielohy
2IORIE Y, &oCTIR zs‘é’osaaang.

(a) 239T° It
(b) T0E3" wEsE

(c) =TERIT
WESTE

f%@@ﬂ%ea@

(d) B0eOF e

D Q0T WHHOIPNGS, ES 0B
EF NH eﬂgoﬁm‘; mETE DR
WQOIAY, HAT® DOWOINTT, LS
LF N&d 6@@%@3 DIS NS @eéﬁx@
2JT° QoGS B 39
Ho2oge FOO3PN BRI,

(a) EF=ES+D

(b) LF-EF=LS-ES

(c) LF=LS+D

(d) All of the above

66.
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The process of calculating the

resource requirements of a

project is known as

(a) Scheduling

(b) Coordinating

(c) Resource aggregation

(d) All of the above

Time and progress chart of a

construction is also known as
(a) Bar chart

(b) Gantt chart

(c) Modified Milestone chart

(d) All of the above

If D 1s the Duration, ES and EF
are the Earliest Start and Earliest
Finish, LS and LF are Latest Start
and Latest Finish times, then the

following relation holds good :
(a) EF=ES+D

(b) LF-EF=LS-ES

(c) LF=LS+D

(d) All of the above

66. A drawback of bar chart is :

67.

27-A)

(a) The sequence of activities is

not well defined.

(b) All the activities represented

are independent of each
other.
(c) It 1s difficult to judge

whether an activity is
completed or not.

(d It 1is not possible to

judge whether the activity is

ahead or behind the

schedule.

In management the following are

objectives of wage incentives :
1. Lower unit costs

2. Improved cost control

3. Increased worker morale
(a) 1only

(b) 2only

(c) 1and?2only

(d 1,2and3
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68.

69.

21

Consider the following
statements regarding early start

and early finish time :

1. The earliest possible that the
job can begin is called the
early start of the job.

2. The early finish of a job is
only start time plus the jobs
completion time.

3. For
predecessors, the early start

jobs with no

1s equal to start time of the
project.

4.  The early start of a job is the
largest of the early finish
times of all of the
immediately predecessors.

Of these statements :

(a) 1 1s correct.

(b) 1 and 3 are correct.
(c) 1,2 and 3 are correct.

(d) 1,2,3and 4 are correct.

When the span of the bridge is
varies from 20 m to 30 m, which
type of bridge is most suitable ?

(a) Slab bridge
(b) T-Beam bridge
(c) Balanced cantilever bridge

(d) None of the above

70.

71.

72.

(29-A)

The economical span length of
bridge is given by
(@) [=L/(n+1)
(b) I=(m+1)/L
(c) I=L/(n-1)
(d I=(mn-1)L
Where [ = economical span,

L = total length of bridge and
n = number of piers

In simply supported span bridge
generally bearings are :
(a) Both are expansion bearing

(b) Fixed bearing at one side
and expansion bearing at the
other side.

(c) Both are fixed bearing
(d) None of the above

In design of bridges, the
distribution of live loads among
the longitudinal girders can be
estimated by

1. Courbon’s method

2. Pigeaud’s method

3.  Guyon Massonet method
4. Hendry Jaegar method

Choose the correct any three of
the above methods.

(a) 1,2 and 3 are correct.
(b) 2,3 and 4 are correct.
(c) 1,3 and 4 are correct.
(d) All the above.
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UTTBTR, OJOLAT  BRTOD
@3&9 3N wégmnmm@m
I=A/(®B+L)ab, cNB dndos
2O QUZTHY, 0, SRE.

?d 1 = VoTHF, FYTOT T’
STFRY DI WET AEBDDININR A
B B Nd émo%ﬁ%.

L = Q08309 9Y 0.

(@) A = SRR 4.5 DI NS
RN 9 W3y B =
SOTRAN 6 TR Y,
REDININ 13.5

(b) A = «OfRAR 9 T NI
REDINOTY 4.5, B = STORAN
13.5 30 98,3 ReINON 6

(C) A = SO 6 T NI
REDINST 13.5, B = STTRA/N
4.5 I YO8, REDINST 9

(d) A =0T 13.5 &DF) W&,
REDINST 6, B = STORAT 9
HF W08, REDINSN 4.5

Aohd  BAToI0T 2B

BT o900 TESTD D, ?
(a) 2.8%

(b) 2.2%

(c) 0.6%

(d) 2.15%

75.

76.

77.

78.

79.

(30-A)

AR SpSeenny Eaplelagct

e;e%tbis’mﬁzgé’

(a) =OI FROWRRTR TR
plgeicial

(b) 6303%:;033% TITEITITS .

(€) @FBne Q8o
FITLITIMOIT.

(d) o»PYTe wY

B30T AOIY RV T’ S WOTE
DYDY wd’e%séeoﬁa ?

(a) 1to1.5mg/l

(b) 0.5to2mg/l

(c) 2to5mg/l

(d) None

FORO3INT VO pH R O, ?
(a) 6do0@9

(b) 6.50%0w8.5

(c) 6d%0@s8.5

(d) 65003 7.5

QOT HORTBODY Loy WIS
nges

(a) DR

(b) FAeTORTY

(C) RACRTYT

(d) Beermm 933

&eéé o N zimba SIRWE BN
D@ BOOT,

(a) DRFO BoOIVIME TS
(b) FTONT Twoge T
(€) (a) 3D (b) DTER

(d) oeyme vy
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The 1mpact allowance is
expressed as a fraction of the
applied load for IRC Class A
loading 1s computed by the
expression

I=A/ @B+ L), choose correct
values froma, b, cand d

where I = Impact factor fraction,
A and B are constants for RCC
and Steel bridges

L = Span in meters

(@) A = 4.5 for RCC and 9 for
Steel bridges and B = 6 for
RCC and 13.5 for Steel
bridges

(b) A =9 for RCC and 4.5 for
Steel bridges and B = 13.5
for RCC and 6 for Steel
bridges

(c) A =6 for RCC and 13.5 for
Steel bridges and B = 4.5 for
RCC and 9 for Steel bridges

(d) A =13.5 for RCC and 6 for
Steel bridges and B = 9 for
RCC and 4.5 for Steel
bridges

Percentage of fresh  water

available on the earth is
(a) 2.8%

(b) 2.2%

(c) 0.6%

(d) 2.15%

75.

76.

77.

78.

79.

B1-A)

Excessive concentration of
nitrates in water causes

(a) Dental fluorosis

(b) Tooth decay

(c) Mathemoglobinemia
(d) None

Desired concentration of fluoride
in drinking water is

(a) 1to1.5mg/l
(b) 0.5to2mg/l
(c) 2to5mg/l
(d) None

What is pH range of drinking
water ?

(a) 6t09

(b) 6.5t08.5
(c) 6t08.5
(d 6.5t07.5

In water treatment, alum is used
for

(a) Softening
(b) Coagulation
(c) Filtration
(d) Disinfection

Discharge of industrial effluents
into surface water increases

(a) Toxic compounds
(b) Organic matter
(c) Both (a) and (b)
(d) None
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TORT m@dd& 83 FFTOE DRWONNS
0N DO DTORIMT3.

(2) BeANdINp INY TOFTIR,
QT ROJO0G

(b) zeans  mHoYNIN®
TOATBR, ATV BOWOG

(C) (a) 2 (b) DTER

(d) oYTe v

I,

23e0ON @3@6&# mgs D02

ALY TRAFRTE ?

(a) o
&G&oﬁmozﬁdwgé

(b) =T ATZPODNS Be03eoTT
w@as

200303

(c) eszT
™OoR)
(d) esom TORT
z%eé)oﬁfaocstfwcaps

AOSRODY  Beany

SS50Hd
) o

ZR WeTLFA0mN TORTT 3¢

BNTVE WIRDBRE JOBIROTT,

(a) CISTONEATOTAVISA S 3 eddodns
2l @e0033N TOBBeZmN
TOY.

(b) =oepmomen, glenodn Y
LIP30 2IRNOIN BOZSET

SONTII .
(c) 9 ddoswam  pdenoDnd
SVTNFTY, 36‘9’3%63@6‘53.

d) (a) > (b) o@H

83.

84.

8S.

86.

(32-A)

DLO3NOT POFINITY, YOI T-
00T FYTom @I emommga".

(a) NO
(b) SO,
(c) 03

d) ow=p

RV TWEON® (300D DY
QOOPYT)  IFTom woIm  woedd
OB DETHIH.

(a) ©TITT NWIEI
(b) enedS IO IO

(C) TITTHTE WTR=H

@) oye

8 IINIPINYY  oIRPYD =T
BBBE INRIRWTVTOT
SVCTORLINT BOBTR,VTING ?

(a) awAmNY

(b) Fo{To0BME

(c) cnemnsd
(d) 2=Ep

m@s@mw TR0 TEIT THE, O ?
(@) 0.475 Q0w 2.00 mm

(b) 0.475 0z 0.895 mm

(¢) 0.075 0z 0.002 mm

(d) 0.002 @0.00.N03 F&H
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(a) Relation between organisms

to their environment

(b) Relation between groups of
organisms to their

environment
(c) Both(a) & (b)
(d) None
level

A  tropic of organism

represents

(a) An organism’s position in a

biome

(b) An organism’s position in a

food chain

(c) Group of organism’s in the
food chain

(d) An organism’s position in

an ecosystem

The major environmental impact

of agriculture is

(a) Conversion of forest land to

crop land

(b) Conversion of grass land to

crop land
(c) Planting trees in crop land

(d) Both (a) and (b)

83.

84.

8S.

86.

(33-A)

Fossil fuel burning contributes
(a) NO

(b) SO,

(© Oj

(d) All

Global warming effects on
(a) Food production

(b) Melting of Glaciers
(c) Climatic change

d) All

Which of the following is a
recyclable non-renewable
resource ?

(a) Minerals
(b) Nutrients
(c) Metals
(d Al

The range of silt particle size in
soils 1s

(a) 0.475to2.00 mm

(b) 0.475to 0.895 mm

(c) 0.075to 0.002 mm

(d) less than 0.002 mm
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20 kN/m3 o RO DFINE
BRBATOR  AORLFORT eI

TPHTOO3W s 15 xR, Q0T
WOBTTY, BRoRB. B P
TITOOD lnfgcloby 230069
(G =2.65) DR, ?

(a) 78.9%

(b) 89.7%

(c) 100%
(d) zero, B3, (B0

PeFTRT (FoFeIoP) coefficient
Ty B NIINYD  oIPRTIR
ST, T/ITLD WIRWITOIE ?
(2) FATTRT RIDODT J390ed
(b) FATTT BEPD BRNIAL)
(c) FPoBEoD BEPD @RNHAE)
(d) ozBod FHodT BEmes
€max = 112, enip = 0.6 a3
€hat = 0.9 Br0oATLT IS ToTeT
) e
0GB IINSINY oI ?

(a) 0.42
(b) 0.24
) 0.62
d) 0.26

LIV FOTT, FFYRT DFOZ030

(a) e<0.5
(b) e>0.75
(c) e=0.55%00.75

(d) BedSIND o3P T Y

91.

92.

93.

94.

34-A)

RS TP IDFE  RNCFT?
RQoddont TToE3 fa'u;ea-sa@ )
O3RYT ?

(a) N.> Nq
(b) Nq <N,
(¢) N.= Nq
(d N.= 2Nq

Brdod SEBS RS Boeg,on, 4O
TEeeey 3edod  edI T
POFROVD, . Noy zawd
BTOTTOR ATE TRUITOIT.

(a) 0.005 @owno/motd
(b) 0.02 Qon0o/moed
(c) 0.1 Qowo/moed
(d) 1 Qowo/moed

22300¢3° F208 0630 Sezan
ATITEN WBNETHES 3eoeo?
aﬁg} ?

(a) 5039 100w 60T 1 T33R
(b) 50T 10%0z 7038 1 T=3R
(c) 4039100z 503 1 T=3R

(d) 5009 1005 650 1 T=3

6 oweedot e demfrn 100
SNCITTNG [OROD AWIN0IT
ATUDTY 0T TG dé’osa 032083
Ne ebx% ?

(a) 0.20 e

(b) 0.18 ¢

(c) 0.10 xoe

(d) 0.09 we
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A compacted soil sample with a

bulk unit weight of 20 kN/m3 has
a water content of 15%. The

degree of saturation (G = 2.65) of
this soil sample is

(a) 78.9%
(b) 89.7%
(c) 100%
(d) zero

The coefficient of consolidation
1s used to calculate

(a) Time rate of consolidation
(b) Magnitude of consolidation
(c) Magnitude of compaction

(d) Time rate of compaction

The relative density of a soil
having e = 1.12, e = 0.6
ande, =09is

(a) 0.42

(b) 0.24

(c) 0.62

(d) 0.26

max min

For general shear failure in soils :
(a) e<0.5

(b) e>0.75

(c) e=0.55t00.75

(d) None of the above

91.

92.

93.

94.

(35-A)

In Bearing Capacity Equation for
soils :

(a) N.> Nq
(b) Ny <N
(¢) N.= Nq
(d) N.=2Ng

In a pile load test, each load
increment on the pile is
maintained till the rate of

settlement becomes less than
(a) 0.005 mm/hour

(b) 0.02 mm/hour

(¢) 0.1 mm/hour

(d) 1 mm/hour

The Camber generally provided
for cement concrete pavement is

(@) 1in50to 1in 60
(b) 1in50to 1in70
(c) 1in40to 11n 50
(d 1in50to11in 65

The Mechanical widening of a
single lane road at a horizontal
curve of radius 100 metres for a
wheel base of 6 metre is

(a) 020 m
(b) 0.18m
) 0.10m
(d) 0.09m
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CL &oomymed, SL 3 a3
&ooNRT (Switch Lead) @od 03
L 200 Bembayns, mowodas
@00 BRT ©NTT, &rf

(@) CL=SL+L

(by L=SL+CL

(c) SL=CL+L

(d CL=L-SL

NER SOTRNYY & Lo Ny
2YNT03 WBNRBOTING.

(a) FTRY W‘apsmfég
(b) wdwow ToH @smf@

(€) OFTm R FodeeRs FTER
208 W‘gsn’@;e‘g

(d) o= ®od WVTOR VY
B FOBRIT FoR FISTOR
Q.

HOWIT TODFE WOW3

(a) QDT B3, o TIFTY
HOWORES FoTINY TOF Rosd,

(b) oz BFIY  HowoR
TEINY 7OF Foal,

(€) a3 ©wgs wom IFEQ
HoroRs TBINY MOF 703,

(d) B30eOT o3P vy

98.

99.

100.

B FYTom 03w WOWDO FoIeI
wésg, ( traffic signal system) n<®
s8em wog (cycle length) &=
8IBES Noney (cycle division)

Ho205eOZTN 3ed 2Je3s-

OIPNTHTE 2

(a) 0T3O 5@?
(Simultaneous)

(b) Boswrod FF

(c) HOY SwouURoH FTIF

(d) =berdmen ADIQTALD

SN0BOROD séwg

2000 dé’oﬁa TFTOS ROIRO CS’E}B%’
203005y 300 3028 &N, A&NF®
2.5 T WOWITT ALt atoveln)
e 7.5 o{mant 10 IRendR
TOWITT @smssgsw@{m%%.
(a) 3.8 msa

(b) 23.5msa

(c) 45.4 msa

(d) 16 msa

IRC B3 S.SD. oy
ST, TTOIN  WPOTAIN  TrRICTIT
gIRe3ed, edT TRIT  RZTP)
O3RYTINT ?

(a) 0.10 e
(b) 0.15 e
(©) 0.25 e
(d) 1.20 ee

36-A)
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If CL is the Curve Lead, SL is the
Switch Lead and L is the Lead

distance for a turnout, then
(@) CL=SL+L
(b) L=SL+CL
(c) SL=CL+L
(d CL=L-SL

In rigid pavements, tie bars may

be provided in
(a) Expansion joints

(b) Longitudinal joint
(c) Both

contraction joints

expansion and

(d) Neither in the expansion nor

in the contraction joint

Traffic capacity is

(a) Maximum number of

vehicles / Lane / Unit time

(b) Maximum number of

vehicles / Lane

(c) Maximum number of

vehicles/Lane/Unit length
(d) None of the above

98.

99.

In which of the following traffic

signal systems are the cycle

length and cycle division

automatically varied ?

(a) Simultaneous system

(b) Alternate system

(c) Simple progressive system

(d) Flexible progressive system

The average daily traffic on a
stretch of road is 300 CVPD.
Design traffic repetitions for
10 years, when VDF is 2.5 and
traffic growth is 7.5%.

(a) 3.8 msa
(b) 23.5 msa
(c) 45.4 msa
(d) 16 msa

100. As per IRC, in the calculation of

(37-A)

S.S.D., the height of the object
above the surface that should be

visible to the driver is
(a) 0.10m
(b) 0.15m
(c) 0.25m
(d 1.20m
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